A .
20 TP —
FE AL
B < L 3 =
LR

i iih b il




A .
20 TP —
FEAL
B < LW = =
2402

i iih b il




i iih b il




i iih b il

E%ﬁ@ﬁzﬁ%Xﬁ%Xég



i iih b il

A =R xfE xEE

100 x 100 x 100



FAHEFA=FE xFE xEE

100 x 100 x 100 = 1000000

i iih b il




FAHEFA=FE xFE xEE
100 x 100 x 100 = 1000000

% 1 1000000 = * 2 A

i iih b il




FTAHEA=FE xFE xEE
100 x 100 x 100 = 1000000

% : 1000000 = * 2 A

i iih b il




FTAHEA=FE xFE xEE
100 x 100 x 100 = 1000000
% 11000000 + = 2 A

132 (md)

i iih b il




i iih b il

FAHEFA=FE xFE xEE
100 x 100 x 100 = 1000000
% 11000000 + = 2 A

1=* % (md) =1000000 = * 24 (cmd)



	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6
	投影片編號 7
	投影片編號 8
	投影片編號 9
	投影片編號 10

